











109

53

28

106

28



1-3-1

N=45 ==fe=—

1-4-1

n=7 —&—

1-3-2

n=35

n=15



22

60

1-4-2

36

——

n=46

n=57



2-1-1 2-1-2
2-1-1 1 18.9% 20 2 26.4
4 14.2 15 3
2-1-2
2-1-1
1 2 3 4
18.9 |26.4 |40.6 |14.2 |100.0
(20) | (28) |(43) |(15) |(106)
26.0 |24.6 [23.9 |25.5 [100.0
(522) | (496) | (480) | (512) | (2010)
2009.09
2-1-2
44.3 |55.7 |100.0
(47) | (59) |(106)
67.6 |32.4 |100.0
(1358) | (652) | (2010)
2009.09

28

40.6

43



n=105

2-2-1

33.3

14.3

0% 20% 40% 60% 80%

O O O O

33 14

100%

46



2-2-2

n=105

0% 20% 40% 60% 80% 100%
(] (] O
91
10 0
X 0.001)
n=47 21.3
n=58 25.9 U
n=105 23.8 1
0% 20% 40% 60% 80% 100%
o1 a2 a3 o4 as (]
2 61
3 24 8 6 2
2 9



2-3-1

N=45 =—hk—

n=7 —A—

2-3-1

2-3-1

n=35

n=15



2-3-2

g

Facl

2.6 13.2

g20g.

ql3f. gl3e.

gl3j.

gl3a.

g20d.




2.4 12.06 g13k. gl3d. gql3l.
Fac?2
2.4 12.03 g20b. q20c.
Fac3
1.98 9.9 gl3c. gl3b.
Fac4
1.4 7.4 g201. ql3i.
fach gql3g. ql3h.
1.2 6.2 g20e. q20f.
fac6 q20k.
61.0
2-3-3




\
wa)v +




2-4-1

0%

30

2-4-1
X p=0.205)
35.4 33.3 | 31.3
42.9 | 143 | 42.9
60.0 | 28.6 [ 11.4
35.7 28.6 | 35.7
20% 40% 60% 80% 100%
o 0

2-3-4

60



2-4-2

X p=0.001)
n=47 36.2 19.1 | 44.7
n=58 50.0 | 37.9 12.1
0%  10%  20%  30%  40%  50%  60%  70%  80%  90%  100%
O O O
45 36 19
50 38 12
12
2-5-1
X p=0.035)
1 n=48 38.5 I\ 38.5 1& 20.5
n=7 429 /l 42.9 [ 143
n=34 34.4 [ 37.5 8.1 25.0
1 n=15 41.7 [ 33.3 25.0
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
O (| O O
2-5-1



2-5-2

100%

X p=0.016)
n=41 4 26.8
n=50 18.0
0% 20% 40% 60% 80%
(] O O O
2-5-2
27 18
2-5-3
X p=0.000)

0%

2-5-3

20%

30%

40%

50%  60%  70%  80%  90%
a O

74

100%

38



26 61
2-5-4
X p=0.2)

n=48

n=7

n=35

n=14

0% 20% 40% 60% 80% 100%
(] O
2-5-4
57

31 13

87 69

43



2-5-5

p=0.215)

>

n=62

n=27

0% 20% 40% 60% 80% 100%

2-5-5
36

22



- - 2008.5
2003.11
1981.3
1993.4
2001.01
2009.3

http://www.bunkyo.ac.jp/ mediares/2007/seml2/5matuzaki. pdf




2009.12

n=106
20.8 34.0 3.8
40.6 0.9
n=106
45.3 6.6
33.0 14.2 0.9
o n=90
68.9 30.3 1.1
o n=106
32.1 11.3 42.5
6. 6.6 0.9
o n=106
30.2 17.9 40.6
7. 2.8 0.9
o n=106
44 .3 20.8 19.8
4. 5.7 4.7
o n=106
34.9 14.2
8. 0.9
n=106
89.6 9.4 0.0
0.9




(0]

n=106

8.5 41.5 16.0
17.9 16.0
o n=106
19.8 36.8 25.5
14.2 3.8
o n=106
13.2 30.2 31.1
19.8 5.7
o n=106
43.4 26.4 29.2 0.9
a 1 o n=106
a. 11.3 28.3 20.8 34.0 5.7
b. 15.1 33.0 19.8 21.7 10.4
C. 15.1 32.1 23.6 23.6 5.7
d. 15.1 34.9 24.5 17.9 7.5
e. 21.7 23.6 34.9 12.3 6.6 0.9
f. 15.1 39.6 28.3 14.2 2.8
g- 7.5 22.6 41.5 17.0 11.3
h. 24.5 42.5 22.6 5.7 4.7
i. 24.5 45.3 16.0 9.4 4.7
j- 14.2 27.4 35.8 16.0 6.6
K. 33.0 32.1 18.9 12.3 3.8
l. 15.1 35.8 31.1 15.1 2.8
o n=106
24.5 58.5
13.2 3.8
o
0.0 15.0 23.0
9.0 21.0 62.2
24.0

21




o n=106

14.2 38.7 13.2
17.9 16.0
o n=106
34.9 30.2 34.9
o n=106
16.0 15.1 25.5 6.6 36.8
o n=106
16.0 10.4 25.5 0.9 46.2
0.9
a | o n=106
a. 13.2 10.4 10.4 12.3 53.8
b. 17.0 19.8 20.8 27.4 14.2 0.9
C. 20.8 27.4 22.6 19.8 9.4
d. 9.4 17.0 38.7 25.5 9.4
e. 27.4 41.5 22.6 8.5 0
f. 28.3 27.4 24.5 17.9 1.9
g- 12.3 36.8 12.3 30.2 8.5
h. 31.1 29.2 22.6 10.4 6.6
i. 3.8 5.7 37.7 34.0 18.9
j- 17.9 22.6 25.5 22.6 11.3
k. 23.6 29.2 19.8 15.1 11.3 0.9
I. 16.0 45.3 18.9 14.2 4.7 0.9
o n=106
23.6 42.5 13.2
7.5 12.3
o n=106
30.2 69.8




o n=106

52.8 45.3
o n=106
11.3 37.7 29.2
16.0 4.7 0.9
n=106
32.1 33.0 18.9 13.2
n=106
4.7 60.4 23.6 0.9
1.9 7.5 0.9
o n=106
31.1 46.2 8.5
10.4 2.8 0.9
n=106
44 .3 55.7
n=106
18.9 26.4 40.6 14.2
n=106
100
n=106
26.4 24.5 35.8 9.4 3.8
n=106
56.6 41.5 1.9




